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If y=x?° then _‘1_%_ i ( "21!32?1

(B) 20x'°
D)2

(B) V2sinx+c

Jﬁ sin—; +c
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The direction ratios of two straight lines are ], 7, nand 1 i

The 1“‘“ will be perpendncular to each other if
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If X=3 -4 =z-5.
-t.ht‘ line -—“—.-y-i,..__—.-zT.s- is parallel to the line %='§=7§. then 2
(A)  Sa+3b+26=0 (B) a.b.c |
5 3 2

(C) Sa=3p=2¢ (D)
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then the value of ) = k=29
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If 2A+B+X=0, where A:["é ff] and B=[5{ —g} then X =

(A) [_'} .-1::'5’} (B) [71’ 1%] '
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SO y]=[2x—1, Ol =
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(A PIANB)=p(a)p(z,

(B) P(AUB) =P[A]+P[B)—P[AHB)
(€) P(AUB) =0

(D) P(ANB) =P(A)+p ()

®) p{AUBJ=P(A)+P(B.)—QAﬂ
(@ P(AUB)=0 | é

pack of 52 cards is
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6. U % ® 10 a1 30TEN e B A w5 Fora 3 F wfern B
6 7
{A) ‘ lOcs[_%) (B) loce(éj

(C.] 113'(:6 [%)8 | o) '°c, (%Jlo

A coin is tossed 10 times. The probability of getting exactly g

heads is SN
RS 6 w%} =

B) y=0

D) v AW

B) y=0
' - none of these
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ﬁ@:ﬂ"l(4-.3,7)%[1,-1,—5ﬁnﬂa:ﬁt{ﬂt

@ 13 (B) 15

€ 12 D) 5

The distance between the points.(4, 3,7 ) and (1,-1,-5) is
(A) 13 : (B) 15 el
© 12 (B
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2( 1+ 6) 4401 E) 2
y 9 L+ e [
R ye.

&, (2-2)
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fag i 4(cot'13_".'_°_‘_’f_.3l s
Blavs that 41 eut"3+wt 2)=r.

o
frg % B tan”! x+m'%‘-?;“""_‘£'
x*-‘*‘ )

Prove that tan™' x+tan  y=tan
- e y=‘1 sinx? @ %Wﬁi

4 x+y
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23. Isina xdx T GATHAT Hi|

Integrate j'sin3 xdx.
2¢. | dx =1 BUTHEA Hi
3x¥1+3x+2
4 dx
Integrate .
& J';;‘x+1-:u,‘h:+2

25. T H - xg%—Qxy.
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Solve : xz%:zxy_ . .&1—; 4
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i ¥ W9 / Long Answer Type Questions

mm 31 W 38 # Iwéty wow ¥ 1 g W PR 4 Wt F T | we
fore 5 ot Frwifim ¥ ! 45%x5=20

Quesﬁorl Nos. 31 to 38 are Long Answer Type questions. Answer any
4 questions. Each question carries 5 marks.

4x5=20
Bi. Ht e osin i aeint S pgin 116 K, 5
frg Sin”™ = +sin” SodsinT g==7
N DS (S N o O = 0
Prove that:sin -§+sm ﬁ”ﬂi_ A
Rjg S Y
32. WA @ W : _[log-c_as-x dx. PAa 2 S
: d
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